

無理数 7

数列 $\{a_n\}$ において, $a_n = \frac{n+1}{1 \cdot 2 + 2 \cdot 3 + \cdots + n(n+1)}$ ($n = 1, 2, 3, \dots$) であるとき,

(1) $S_n = a_1 + a_2 + \cdots + a_n$ を簡単にせよ。

(2) $\lim_{n \rightarrow \infty} S_n$ を求めよ。

$$\begin{aligned} (1) \quad \sum_{k=1}^n k(k+1) &= \frac{1}{6} n(n+1)(2n+1) + \frac{1}{2} n(n+1) \\ &= \frac{1}{12} n(n+1) \{ 2(2n+1) + 6 \} = \frac{1}{12} n(n+1)(4n+8) \\ &= \frac{1}{3} n(n+1)(n+2) \end{aligned} \quad \text{[関西大]}$$

$$a_n = \frac{\frac{3}{2}(n+1)}{n(n+1)(n+2)} = \frac{\frac{3}{2}}{n(n+2)}$$

$$\underline{a_n = \frac{\frac{3}{2}}{n(n+2)}}$$

$$\begin{aligned} (2) \quad S_n &= \sum_{k=1}^n a_k = \sum_{k=1}^n \frac{\frac{3}{2}}{k(k+2)} \\ &= \frac{3}{2} \left\{ \left(1 - \frac{1}{3}\right) + \left(\frac{1}{2} - \frac{1}{4}\right) + \left(\frac{1}{3} - \frac{1}{5}\right) + \cdots + \left(\frac{1}{n+1} - \frac{1}{n+1}\right) + \left(\frac{1}{n+2} - \frac{1}{n+2}\right) \right\} \\ &= \frac{3}{2} \left\{ 1 + \frac{1}{2} - \left(\frac{1}{n+1} + \frac{1}{n+2}\right) \right\} \end{aligned}$$

$$\begin{aligned} (2, 2) \quad \lim_{n \rightarrow \infty} S_n &= \lim_{n \rightarrow \infty} \frac{3}{2} \left\{ 1 + \frac{1}{2} - \left(\frac{1}{n+1} + \frac{1}{n+2}\right) \right\} \\ &= \frac{9}{4} \end{aligned}$$